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 ��"�6� O���� �� ���$ A �"#$J�K

L �#$ �( P�D ��� Q�+ 
� 7$ �+�� f ∈ A O���� 7* ��

∃η ∈ R, Re
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λ 7��
�R� >"#$ �( ��
�� �
 Vλ,α(z) =
{∫ �
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f(tz)
t

)α

dt
} �

α ������
� S���� 7(�
 ����- B�� 
�
L 3�� ∫ �

� λ(t)dt = � T��� ��+ �N"��(�
 � �5#(�
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f ∈ pγ(α, β) � ���� 7� 7��
�R� 3�� α, β, γ, μ �� ��(�
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 �R���+ B�K�� �( ��D� U� 
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0���1� =	��>0 +?+

!� D(a, r) = {z : |z − a| < r} 7��*e( L �+�� T��G( ��� !� a � r > ���� ?+?+?+ =	�>0
>�
�� � 3�� r &�,+ � a N$�( 7� ����M( f�W

D(a, r) = {z : |z − a| ≤ r}

L ��+ �( ��"(�
 r &�,+ � a N$�( 7� 7�5� f�W D′(a, r) = {z : � < |z − a| < r} �
�#�* X !�g���-�� ��dK 
� E 7��*e( >"h�� �+�� !�g���-�� ��dK !� X ��� ?/?+?+ =	�>0

7$ �+�� B � A �#
�( �2��
 7��*e( �� &�*�H� ��� � 3M"

A ∩ B = A ∩ B = ∅

L �+��
 �#�* �
 ��� � >"h�� �#�* X !�g���-�� ��dK 
� �
 7��*e( !�
��H�( B � A �#
�( �2� �"i ��� 7��*e( �� ��� � >"h�� �#�* �
 �
 E 7��*e( ���� �
��� 7�

7$ �+��
E ∩ B �= ∅, E ∩ A �= ∅, E ∩ A ∩B = ∅, E ⊂ A ∪B
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�( ��� 7��*e( !� Ω �= 
� 7$ �+�� T��G( O��� !� f : Ω −→ C >"#$ J�K ?:?+?+ =	�>0
��� � 3�� ��j- :�	( a ∈ Ω 7R?
 
� f >"h�� �
�D B�� 
� �+��

lim
h→�

f(a+ h)− f(a)

h

L >" � �( ��	
 f ′(a) �� �
 �= � �+�� ��H�(
L 3�� 7���"- ���
= �+�� ��j- :�	( 7R?
 !� 
� �,��� ��� ?9?+?+ =	�>0

��"�6� Ω 
� �
 f �+�� C ���� Ω �� ��+��
 f � ��� 7��*e( !� Ω >"#$ J�K ?@?+?+ =	�>0
3�� ��"�6� a ∈ Ω 7R?
 
� f >"h�� B"#V* � �+�� ��j- :�	( Ω �� 7R?
 � 
� f ��� � >"h��

L �+�� ��j- :�	( a �� ����M* !� 
� f ��� � 
L >"#$ �( Z��,� ��� �
�c� � ���� ��	
 U �� �
 T��G( 765D ��� �;�� !M�� ?6?+?+ =	�>0

U = {z : z ∈ C, |z| < �}

L >"h�� 7";�
 !� �
 C ���"( 
� �2��
 �#�* � ��� 7��*e( � ?A?+?+ =	�>0
L >" � �( ��	
 H(U) �� �
 U �;�� !M�� 
� / ��"�6� O���� ��*� 7��*e( ?B?+?+ =	�>0

� ���� ��� � 3�� F��*
 S��W �
��� ��� 7�"��� Ω 
� f �#
�( ��+ Z��,� O��� ?C?+?+ =	�>0
���* z ∈ D(a, r) � ���� 7� 7$ ��+ �"k
 ∑∞

n=� cn(z − a)n �#
�( ��� !�D(a, r) ⊂ Ω f�W
L �+�� f(z) 7�

��� �� N"
 f ′ � f ∈ H(Ω) ���
= �+�� F��*
 S��W Ω 
� �
��� ��� 7�"��� f ��� � �/]L/L/ ����
z ∈ D(a, r) � ���� 7� OW�� 
� l Ω
� ��"�6� O���� 7��*e(H(Ω)��
�k#( m 3�� F��*
 S��W �
���

>�
�� ��� �= f(z) = ∑∞
n=� cn(z − a)n���X

f ′(z) =
∞∑
n=�

ncn(z − a)n−�

% ��� � >"h�� Y N�
��+ O��� !� �
 f ∈ H(U) O��� ?++?+?+ =	�>0
|f(z)| ≤ � X z ∈ U l/

Xf(�) = � lY
nopqrstu/

vuwxpyz {|oust}o Y



[���(�?( ����dW � 7"��� >" �5( L/ ScK

��	
� z ∈ U �
 �
�� �	�� ��
 	� ���� ��	
�� ���� �� f ���� ��  �! " ��	
�� # ?+/?+?+ 4�
����� ���
� D 	� � z �= � �
�� �� |f ′(�)| = � �$
 %���&'
 ( |f ′(�)| ≤ � ( |f(z)| ≤ |z|

f(z) = cz % z ∈ U �
 �
�� ( |c| = � ���	�)� *+
 ��,�� �
 c *��- ��. /�0�1 |f(z)| = |z|
����� �2,
�� 3�43 ��56 % 7489 �,�� �� : ;�
��

�D� !���� & E�F� G H�
 I0 J�
D0 /?+

�� z� � z� N��*�( 7R?
 �� � ���� 7� ��� � >"h�� / �
� !� �
 U �� f T��G( O��� ?+?/?+ =	�>0
>"+�� 7�+�� U

f(z�) �= f(z�)


� � ��+ Z��,� U �;�� !M�� 
� 7$ f �
� !� � ��"�6� O���� ��*� 7��*e( ?/?/?+ =	�>0
f ∈ S� 7$ ��� ���� �( L >" � �( F��*
 S �� �
 �#$ �( P�D f(�) = � �f ′(�) = � T���+

L �+�� �( ��� ��K 7� 
��"� TM� ��
��
f(z) = z +

∞∑
n=�

anz
n |z| < �

L �+�� �*
 �
���� ��dK �j� 3M"
 7�M� I�' �� O*H 36� S _�$ 7e"�

�
z��� ����M* !� 
�f ��� � >"h�� Y�
� !� �,'�( z� ∈ U 7R?
 
��
 f(z) O��� ?:?/?+ =	�>0

L�+�� �
� !�
O��� B�� 7$ 3�� ~'�� >��"� �( �k
 
� �
K(z) = z

(�−z)� = z + �z� + · · · 7��$ O��� ?9?/?+ K�L�
K(z) = �

�(
�+z
�−z

)� − �
� �
�c�K O��� B�+�
 �� 7$ ��� ���� �( B"#V* 3�� �
� !� � ��"�6� U 
�

B�� �#$ �(���c� −∞ �� −�
� �� �?"?; ����� �5#( 3*MW Ne� C 765D S$ 7� �
 U 3+��
 B��

L 3�� U��,( 0 7��$ O��� 7� 7$ �
�� ��"�6� O���� 7��k
 
� �D�C 3"* � O���
� f(�) = ����*,( �N"��(�
 T���+ �� U �;�� !M�� 
� ��"�6� O���� 7* 7��*e( ?@?/?+ =	�>0

L >�
�� �
�D B�� 
� 7$ >" � �( F��*
 A �� �
 f ′(�) = �
A = {f ∈ H(U) : f(z) = z +

∞∑
n=�

anz
n}
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>"#$ �( Z��,� ��� �
�c� �
 A� _�$ B"#V* 
A� = {f(z)

z
, f ∈ A}

��5� A ��An _�$ ��� n ≥ � � ���� 7�
An = {f ∈ A : f(z) = z +

∞∑
n=�

an+�zn+�}

L��+ �( Z��,�
Q�?
 7$ �*"?�M( TC �
�- ��� � >"���/ ��� �
��� z� 7� 3�M
 �
 D ⊆ C 7#(�� ?6?/?+ =	�>0

L ��"�
��W D SC�� 
� S(�$ 
�R� �#$ �( SD� z� 7� �
 D
��� >"��� l ��� �
��� 7D�C 
�R� �� m ��� �
��� ���( 7� 3�M
 �
 f ∈ S O��� ?A?/?+ =	�>0
7��*e(L 3�� ��� �
��� z� = �7� 3�M
 7$ ��+ 7�+��
 �� 7#(�� �� f ��< X��� �;�� f�W 7V
�#9

L >" � �( ��	
 S∗ �� �
 A 
� ���( 7� 3�M
 ��� �
��� O���� ��*�
�$
 <=!( �$
 f ∈ S∗ /�0�1 f ∈ S ����  �! ?B?/?+ ��23

Re{z f
′(z)
f(z)

> �}, (z ∈ U)

� ���� �2,
�� 3�4 ��56 % 7>9�,�� �� :;�
��
L 3+�
 ��� �
�c� ���� �( � 
 S∗ l\LYL/m 7"dW :�A �1LYL/ ����

S∗ = {f ∈ S : Re{z f
′(z)
f(z)

> �}

�� ��� �
��� �
 f ∈ S O��� � ≤ α < � 7$ �+�� �?"?; ��� !� α �"#$ J�K ?+M?/?+ =	�>0
��� � >"h�� α 7���(

Re{z f
′(z)
f(z)

} > α, (z ∈ U)

B�����#� >" � �( ��	
 S∗(α)�� �
 O���� B�� 7��*e(
S∗(α) = {f ∈ S : Re{z f

′(z)
f(z)

} > α}

>" � �( 
��W
S∗(�) = S∗

�spyqt��/
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% 7$ ��� ���� �( ��;��� �//LYL/ ����
S∗(α) ⊆ S∗(�) = S∗ � ≤ α < �

Z��,� :�A ��9 �+�� �( � ≤ α < � 7���( �� ��� �
��� f(z) = z
(�−z)�−�α O��� ?+/?/?+ K�L�

z = w−�
w+(�−�α) 3+�� >" ��C w = �+(�−�α)

�−z
J�K �� @�; Re zf ′(z)

f(z)
= Re�+(�−�α)z

�−z
L >�
��

�j� |z| < � ��9L >��"� �( :�R( 
�W 7R��
 B"K�A��

|z| = |w − �|
|w + (�− �α)| < �

|w − �| < |w + (�− �α)|

L 3+�� >" ��C w = u+ iv J�K �� @�;
|u+ iv − �| < |u+ iv + (�− �α)|

|(u− �) + iv|� < |u+ (�− �α) + iv|�

�u+ �α� − �αu− �α > �

Rew = u > α )- � ≤ α < � ��9 � u(�− α) > α(�− α) 7e"�
 
�
�
 D �� 7R?
 �� � 7$ �*"?�M( TC �
�- ��� � >"h�� / I�6( �
 D ⊆ C 7#(�� ?+:?/?+ =	�>0

L ��"� 
��W D SC�� S(�$ 
�R� �#$ �( SD� > 7�
7�+��
 I�6( � 7#(�� !� �� f 36� U 7V
�#9 ��� >"h�� I�6( �
 f ∈ S O��� ?+9?/?+ =	�>0

L>" � �( ��	
 K �� �
 S �� ��
 ��� B��L ��+

� f ′(�) = � � f(�) = � 7$ �+��U 
� �
� !� � ��"�6� O��� !� f >"#$ J�K ?+@?/?+ =	�>0

��� T?K� ��� f ∈ K �
�D B��
Re{�+ zf ′′(z)

f ′(z)
} > �, (z ∈ U)

L �"#$ 7,H��( X �Y� OH�( 7� % �� ��
��� � 3�� (� ≤ α < �) α 7���( �� I�6( f ∈ S O��� >"h�� ?+6?/?+ =	�>0

Re{�+ zf ′′(z)
f ′(z)

} > α, (z ∈ U)

�}o���/
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�j� >" � �( ��	
 K(α) �� �
 O���� B�� 7��*e(
K(α) = {f ∈ S : Re{�+ zf ′′(z)

f ′(z)
> α}

( f(�) = � �� ���� U 	� �?�?@� ���� �� f ����  �!/ "	���A�B
 ��56 # ?+A?/?+ ��23
�$
 <=!( �$
 f ∈ K /�0�1 f ′(�) = �

zf ′(z) ∈ S∗

� ���� �2,
�� 3�4C ��56 %7C9 �,�� �� : ;�
��
( /��� D D�@� ���
� 	� �?�?@� ���� �� f �$
Y " ��+�E	
( F (����� # ?+B?/?+ ��23

� *+
 G	
 �� D 	� f /�0�1 Re{f ′(z)} > �
� ���� �2,
�� 3�4> ��56 %7C9 �,�� �� : ;�
��

7���- m 0 I�6( U�i T��G( 765D 
� �
 E S(�+ I�6( 7��*e( B����9�$ ?+C?/?+ =	�>0
L �# � �( ��	
 CO(E) �� �
 �= 
��M� � �# � �( ��	
 CO(E) �� � �#��� �( E 7��*e( l I�6(
��?�	( ��
�� u ��� � ��+ �( ��"(�
 ��M* u(x, y) 
��?( �?"?; ��"��( �� O��� ?/M?/?+ =	�>0

L �#$ P�D ��� 7���,( 
� � ���� Ω 
� 7���"- ��� 7���( �hNH
∂�u
∂x� +

∂�u
∂y� = �

L >"h�� �( _�-� 7���,( �
 7���,( B��

/�0�1 D(a, r) ⊂ Ω ( ���� G�A'
 ���� �� u : Ω −→ R �$
 [ " ��0���� 	
�=�# ?/+?/?+ ��23
u(a) =

�
�π

∫ �π

�
u(a+ reiθ)dθ

� ���� �2,
�� 48�44 ��56 % 7489�,�� �� : ;�
��
��� � �
�� B"�
�"( 
��?( 3"D�C u : Ω −→ R 7���"- O��� >"h�� ?//?/?+ =	�>0

u(a) =
�
�π

∫ �π

�
u(a+ reiθ)dθ


��?( �?"?; 7���"- O��� !� u � 7";�
 !� Ω >"#$ �( J�K l >*�N$�( SD� m ?/:?/?+ =	�>0
� ���� 7��
�R� �+�� ��H�( a ∈ Ω ��9 �� 7R?
 ��� �+�� B"�
�"( 
��?( 3"D�C �� Ω ��


nq��po��y �w�}y��/
�}�wty}�xpy�uwpx��tY u}o��� w|qq 0

��po �pq|� [
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L 3�� 3��� O��� !� u ���
= u(z) ≤ u(a) z ∈ Ω

L �"#$ 7,H��( /L\ 7"dW X �Y�OH�( 7� % �� ��
��+��H ���� �� u ( ��I�� �� Ω ����  �! " G�A'
 ��
�� �
�� �'��� J�
 ��56 # ?/9?/?+ ��23
���� ��,�� a ∈ Ω ;�E �
 �)=� �$
 � ���� ��0���� 	
�=� *���K �� Ω �(	 	
�=� �=�=I �

� *+
 *��- u /�0�1u(a) ≤ u(z) z ∈ Ω �
 �
�� ���	�)�
� ���� �2,
�� 4�4L ��56 % 739 �,�� �� : ;�
��


.N� E�� :?+
��"�6� O��� �� f�(z) = z+

∑∞
n=� a�,nzn � f�(z) = z+

∑∞
n=� a�,nzn >"#$J�K ?+?:?+ =	�>0

��� �
�c� � ���� ��	
 f� ∗ f� �� �
 f� � f� Y �
�(��� �� / �	V"- I�' ���
= �#+�� �
� !��
L >"#$ �( Z��,�

(f� ∗ f�)(z) = z +
∞∑
n=�

a�,na�,nzn = (f� ∗ f�)(z) (z ∈ U)

∑∞
n=� a�,na�,nzn ��� 7$ >"#$3��� 3�� �K�$ 
�k#( B�� ���� (f�∗f�) ∈ H(U) >" � �( ��	
 @�;

|z�| < r 7$ �+�� ���� � < r < � � U ��
 ���G�� �� 7R?
 z� >"#$ J�K L 3� ���* U ��

��9 �
�D B�� 
�

∞∑
n=�

|a�,na�,n||z�|n ≤ (
∞∑
n=�

|a�,n|rn)(
∞∑
n=�

|a�,n|rn)

�� L 3�� ��"�6� )- ��� � ��C N"
 ���* �j� 3����* :�R( 
�R� ∑∞
n=� a�,na�,nzn ��� )-

H(U) 7� :�,�( � 3�� ��"�6� (f� ∗ f�)(z) 7e"�
 
� � 3�� ��"�6� z +∑∞
n=� a�,na�,nzn ��#��

L ��+ �(


.N� E�� O
DP
� ���� �	V"- I�' 36� �
 �
�* �c#� F?
 L(z) = z +

∑∞
n=� zn = z

�−z
���# ��� l/m

f ∗ l = f �#,� �#$ �( �5�� U 
� f�
� !� � ��"�6� O���
�
� !� � ��"�6� O���� f�(z) = z +

∑∞
n=� a�,nzn � f�(z) = z +

∑∞
n=� a�,nzn >"#$ J�K lYm

�}o�}q|st}o/
�p�p�py� �y}�|usY
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>�
�� �
�D B�� 
� �+�� �
�"�C� 3��� !� α � ���� U 
�

f� ∗ [zf ′�(z)] = z(f� ∗ f�)′(z)

�
(f� ∗ αf�)(z) = α(f� ∗ f�)(z)

f�(z) = z + � f�(z) = z +
∑∞

n=� a�,nzn � f�(z) = z +
∑∞

n=� a�,nzn >"#$ J�K l0m
�
�D B�� 
� �#+�� �
� !� � ��"�6� O��� 7� ∑∞

n=� a�,nzn

(f� ∗ f�) ∗ f� = f� ∗ (f� ∗ f�)


.N� E�� ���&� 9?+
7$ ��$ >" ��C �
�+� ����� SD� 7"dW 7� )�� � �K�,( �
 �	V"- I�' ����� ����� FG� B�� 
�
��+ 7�+�
 �/Y� OH�( _��� �� FG� B�� ���R( L �#$ �( �5�� ��,� ����dW ����� 
� �*2( F?


L3��
7� �
 ����� V ⊂ A� ���� A� = {f ∈ A, f(�) = �} � A ⊆ H(U) >"
�� �( ?+?9?+ =	�>0

>"#$ �( Z��,� ��� �
�D
V ∗ = {g ∈ A� : ∀ f ∈ V (f ∗ g) �= � z ∈ U}

L >"(�
 �( ��� ����� �
 V ∗∗ = (V ∗)∗ B"#V* �
7�+�� |x| ≤ � � f ∈ V J�K �� 7$ ��
�D 
� >"h�� S(�$ �
 V ⊂ A� 7��*e( ?/?9?+ =	�>0

% >"+��
fx ∈ V

L >"#$ �( Z��,� fx(z) = f(xz) 7R��' �� �
 fx 3+��
 7��
�R�
��
 	� A ⊆ H(U) �� ���� A �� ��+��H �)K ��
 �2��� �.�'M� Λ ����  �! ?:?9?+ ��23
f ∈ A �
 �
�� ���	�)� ���� ��,�� |z| ≤ � 	� g �?�?@� ���� �� �$
 <=! ( �$
 λ ∈ Λ �	��

λ(f) = (g ∗ f)
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� ���� �2,
�� A ��56 %7439 �,�� �� : ;�
��
�2��� N�'� ��5! Λ ( ���� J��� ( /��O! V ⊂ A� ����  �! ";�$(� J�
 ��56# ?9?9?+ ��23

: /�0�1 ���� A �� ��+��H �)K ��

λ(V ) = λ(V ∗∗) ( λ ∈ Λ "4#

" *+
 ��A� D�@� PQRCo # Co(V ) = Co(V ∗∗) "3#
� ���� �2,
��4�4 ��56 % 7439 �,�� �� : ;�
��

: ���� /�� /�
� ��G �)��S �� V ⊂ A� ����  �! ?@?9?+ ��23
V = {μ+ (�− μ)

(�+ xz)

(�+ yz)
: |x| = |y| = � μ �= � μ ∈ R}

: ��	
� �	�� ��
 	� � ���� J��� ( /��O! ���	�)�
"4#

V ∗∗ = {g ∈ A� : ∃η ∈ R : Re{eiη(g(z)− μ)} > �, z ∈ U}

�
 �
G
 �� /�0�1 Γ�(V ) �= � T�� �� ���� V �� ��+��H �)K ��
 �2��� Γ� ( Γ� ����	�� 	� "3#
���	�)� *!�� ;��E 
	 �� ν ∈ V ;
�� �� g ∈ V ∗∗

Γ�(g)
Γ�(g)

=
Γ�(ν)
Γ�(ν)

� ���� �2,
�� % 7439 �,�� �� : ;�
��
( V = {�+xz

�+yz
, |x| = |y| = �, z ∈ U} ����  �! ?6?9?+ �Q���

V ∗∗ = H : ��	
� �	�� ��
 	� H = {f ∈ A�, Re(eiηf(z)) > �, η ∈ R, z ∈ U}

>�
�� �/Y� OH�( :�A P�K 7"dW �� �� 
� �aL[L/ /�UV�
Ref(z) > �

� ←→ f ∈ V ∗ �� (f ∗ g) �= � ←→ Ref(z) > �
� , g ∈ V


���5 RD� J�
D0 @?+
O��� �+�� c �= �,−�,−�, · · · � T��G( ����� c � b � a >"#$ J�K ?+?@?+ =	�>0

�F�(a, b, c; z) = F (a, b, c; z) = �+ ab

�!cz +
a(a+ �)b(b+ �)

�!c(c+ �) z� + · · · l/L/m
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L 3����* :�R( 
�R� z ∈ U � ���� 7�l/L/m 7R��
 ��� L �
�� ��
 / _��� ���# P�K O���
L 3�� ��"�6� U 
� _��� ���# P�K O��� �j�

@����
� !� 7$ Γ(x) =
∫∞
� e−ttx−�dt �
�D B�� 
� � < x < ∞ >"#$ J�K ?/?@?+ =	�>0

L >"(�
 �( �(�� O��� �
 3����* 
� < x < ∞ �$
 *+
 	
�6�� Γ(x+ �) = xΓ(x) �2��� �B��2� "4# ?:?@?+ ��23

Γ(n+ �) = n! n = �, �, · · · �
G
 �� "3#
� ���� �2,
�� W�4W ��56%7449 �,�� �� : ;�
��
/�0�1 m > � ( n > � /�$ �
 ?9?@?+ ��23∫ �

�
xm−�(�− x)n−�dx =

Γ(m)Γ(n)

Γ(m+ n)
= B(m,n)

� ����� �� ��� ���� 
	 B(m,n)

� ���� �2,
�� W�3L��56 % 7449 �,�� �� : ;�
��
� ���� �� X��2� ��G �	�U� 
	 J�	����! ���Y� �� Y ���ZE�H ��'� ?@?@?+ ��23

(a, n) =
Γ(a+ n)

Γ(a)
=

{ �
a(a+ �)(a+ �) · · · (a+ n− �)

(n = �)
(n ∈ N)

L >"M��
 �( ��� �
�c� �
 l/L/m � 7R��
 �(�29�- ��*
 7� 7H�� �� �`L^L/ ����

F (a, b, c; z) =
∞∑
n=�

(a, n)(b, n)

(c, n)(�, n)zn =
Γ(c)

Γ(a)Γ(b)

∞∑
n=�

Γ(a+ n)Γ(b+ n)

Γ(c+ n)Γ(�+ n)
zn lYL/m

7� � 3����* :�R( 
�R� |z| < � 7$ ��� z ���� 7� lYL/m 7R��
 ��� 7$ ��� ���� �( ��;�
 7�
c > a+ b ��� � 3����* :�R( 
�R� |z| = � 7$ ��� z ���� 7� B"#V* 3������ |z| > � ����
L 3�� ��"�6� U 
� ���# P�K O��� )- c > a + b − � ��� � 3����* ��� z = � ���� �

% >�
�� >��"�� :�	( lYL/m 7R��
 B"K�A �� ��� @�;

F ′(a, b, c; z) =
∞∑
n=�

n
(a, n)(b, n)

(c, n)(�, n)zn−� =
∞∑
n=�

(a, n+ �)(b, n+ �)
(c, n+ �)n! zn

wr��y��}��s� �p|��tpo/
�|oust}o ytu �}uwwp���y �r��}q Y
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% >�
�� �j� (a, n+ �) = a(a+ �, n) ��9 �(�
F ′(a, b, c; z) =

ab

c
F (a+ �, b+ �, c+ �; z)

>"#$ �( Z��,� f ∈ A J�K �� �aL^L/ ����
H(z) = Ha,b,c(f)(z) = z�F�(a, b, c; z) ∗ f(z)

	� c �= �,−�,−�, · · · �� ���� <?�[� �
�.
 c ( b ( a ����  �! " \(�$ ��56# ?B?@?+ ��23
�	�� ��


F (a, b, c; �) = Γ(c)Γ(c− a− b)

Γ(c− a)Γ(c− b)

� ���� �2,
�� 3�4 ��56 % 7>9 �,�� �� : ;�
��
>�
�� lYL/m 7R��
 
� ��� @�(�K �
�j���H �� �1L^L/ ����

F (a, b, c; z) =
Γ(c)

Γ(b)Γ(c− b)

∫ �

�
tb−�(�− t)c−b−�(�− tz)−adt l0L/m

Reb > � � Rea > � ��� ���,� L 3�� U��,( ����� @����
� �
��� 7� l0L/m 7R��
 �
��� 7$
% >�
�� �
 ��� ������
� �
��� ���
= Re(c+ �) > Re(a+ b) �

F (a, b, c; z) =
Γ(c)

Γ(a)Γ(b)Γ(c− a− b+ �)
∫ �

�
λ�(t)

�
�− tz

dt l[L/m
7��
�R�

λ� = tb−�(�− t)c−a−bF (c− a, �− a, c− a− b+ �; �− t)

L �"#$ 7,H��(X �`� OH�( 7� % �� ��
: ��	
� c ( b ( a <?�[� ��
���
	�H �
�� ?+M?@?+ 4�

F (a, b, c; z) = F (b, a, c; z) "4#

F (a, b, c; z) = (�− z)−aF (a, c− b, c; z
z−�) "3#

(a+ �)F (�, a, a+ �; z) = (a+ �) + azF (�, a+ �, a+ �; z) "8#
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F (a, b, b; z) = (�− z)−a "C#

F (a, b, c; z) = (�− z)c−a−bF (c− a, c− b, c; z)′ "]#

cF ′(a, b, c; z) = abF (a+ �, b+ �, c+ �; z) ">#

pγ(α,β) ST� & �
� �H& K
�-��
 UT	�V0 6?+
L >"#$ �( Z��,� ��� �
�c� �
 Vλ,α �
�� @����
� S���� α ≥ � � f ∈ A � ���� ?+?6?+ =	�>0

Vλ,α(f)(z) = (

∫ �

�
λ(t)(

f(tz)

t
)αdt)

�
α l^L/m

�N"��(�
 T���+ 
� 7$ ��j- @����
� �5#(�
 �?"?; O��� !� λ : [�, �] −→ R O��� 7��
�R�
L ��+ �( 7�K�� �k
 
� �#$ �( P�D ∫ �

� λ(t)dt = �
7e"�
 �
 ���(�$� ��
�
�� X ���"� ��9 �
�2	( �� ���*� Vλ,α ���*� �
��( �C�� 
� 7$ >"
�� �(

L � � �(

��W ��
�� �
�( λ(t) �� �5��G( �� I�G�
� ���� �
 Vλ,α ���*� �/] X1 X^ X0 X/� 
� B"5��(
�� 7$ ������
� �� ���*� �� �C�� �K�,( 7� �H B�� 
� 7$L �
� 7�K�� 3�� ����H ����
 7� � �
� ����

>�����- �( �
� ��(= 3��� λ(t) f�C I�G�
�
>" � �( 
��W �YL`L/ ����

F (z) = Vλ,α(f)(z)

3+�� >" ��C λ(t) = � >" � 
��W l^L/m 7R��
 
� ��� � ?:?6?+ =	�>0

Vλ,α(f)(z) = (

∫ �

�
(
f(tz)

t
)αdt)

�
α

L 3�� U��,( 
�
�M��� ���*� 7� ���*� B��
/ ��
�
�� ���*� a > −� � λ(t) = (� + a)ta >" � 
��W l^L/m 7R��
 
� ��� � ?9?6?+ =	�>0

��yopy�t  ��yps}y/
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L >" � �( F��*
 ��� �
�c� �
 �= 7$ �+ � ��C Z��,�
Vλ,α(f)(z) = {(�+ a)

∫ �

�
(
f(tz)

t
)αtadt} �

α

L >" � 
��W l^L/m 7R��
 
� ��� � ?@?6?+ =	�>0

λ(t) =
(�+ a)

Γ(p)
ta(log

�
t
)p−�, p > �, a > −�

L ��+ �( ���� ��	
 ��� �
�c� � ��� �( 3��� ���(�$ ���*� �
�D B�� 
�

Vλ,α(f)(z) = {(�+ a)

Γ(p)

∫ �

�
(
f(tz)

t
)αta(log

�
t
))

p−�
dt} �

α

L ��= �( 3��� ��
�
�� ���*� ��* OW�� 
� / ���(�$ ���*� 
� p = � ���� 
��W ��

pγ(α, β) ST�
� z ∈ U � ���� �
�D B�� 
� � � ≤ γ ≤ � � α ≥ � � β < � >"#$ J�K ?6?6?+ =	�>0

L >"#$ �( Z��,� ��� �
�c� �
 pγ(α, β)_�$ X f ∈ A

pγ(α, β) = {f ∈ A , ∃η ∈ R, Re{eiη[(�− γ)(
f(z)

z
)α+γz(

f ′(z)
f(z)

)(
f(z)

z
)α−β]} > �, (z ∈ U)

l`L/m
L 3�� �k
 �
�( �
��� O��� ��D� 7C�+ �= 
� 7$

�
�c� ��� Z��¡ 
�",( !� pγ(α, β) _�$ ���� ���
= η = � >" � 
��W l`L/m 7R��
 
� ���
3+�� >" ��C ���

Re{(�− γ)(
f(z)

z
)α + γz(

f ′(z)
f(z)

)(
f(z)

z
)α − β} > �, (z ∈ U)

>�
�� α = � ���� 
��W �� �K�A ��

pγ(α, β) = {f ∈ A, ∃η ∈ R, Re{eiη(�− γ)
f(z)

z
+ γf ′(z)− β} > �

�� �
 Vλ,�(f) ������
� ���*� �
�� �
��� �\ X` X^ X/� 
� B"5��( f ∈ pγ(�, β) ��� X���� U�A ��
�}�ps|  ��yps}y/


